Multiplicar Tres Polinomios (H)

Ot

Simplifique cada expresion.

4yt (—=3y° + 3y (5y* + 8y?)

- —6m?*(—9m — 2)(5m + 4)

3. 3vu(5v! — 8v°)(4v° + v?)

—45°(8s* — 5%)(5s* 4 45°)

=683 (—t° — 6t1) (=3t + 4t?)
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Multiplicar Tres Polinomios (H) Respuestas

(&g

Simplifique cada expresion.

4yt (—=3y° + 3y (5y* + 8y?)

— —60y'? — 36" + 96y°

—6m>(—=9m — 2)(5m + 4)
= 270m° + 276m* + 48m>

3v(5v* — 8v?)(4v° + v*)
= 600" — 810" — 242°

—45°(8s? — s%)(5s* + 45%)
= —160s" — 108s" + 165"

=683 (—t® — 6t1) (=3t + 4t?)

— 18t — 84419 + 144¢°
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